ALL KERALA BHAVAN’S SCHOLARSHIP
EXAMINATION 2014-2015

Duration: 90 min
Max.Marks:100

GENERAL INSTRUCTIONS

(for class llI- X, Xl(commerce), Xll{(commerce))

Read the instructions carefullvhbefore answering
Roll No. and class in the box provided on the

1. Please fill up your

answer sheet.

2. This question booklet contains 5
questions. All questions including Tie Breaker Questions are

mandatory. Tie Breaker questions would be evaluated only in

case of a Tie.
3. Each question carries 2marks.

4. Each question has 4 answer choices a, b, ¢, d.
uestion, select the hest/correct option and darken the

letely against the corresponding questionin the

0 questions and 5 Tie Breaker

5. For each g

oval comp
answer sheet provided.
6. Use blue/black ball point pen 1o darke

7. Darken only oné oval against each que
g There will be no negative marking.

n the oval.
stion.

Scanned with CamScanner



BS0003

“l Marks :100 Marks
Time: 14 hrs
Fill up with the correct word
a) There are many in the computer room
a) bench b) benches c) benchs d) benchess

10

11

12

13

The young one of a ‘frog' is called

a) kid ‘ b) tadpole c) caterpillar d) calf

Fill up with the correct ‘collective noun’

A____ ofants

a) colony b) swarm c) line d) school

Choose the synonym of the word ‘small’

a) huge b) tiny c) big d) thin
Choose the masculine gender of ‘Cow’

a)goose - b) mare c) bull d) sheep

Select the odd one from the words given- glitter, glimmer, faint, twinkle, glow

a) glow b) twinkle c) glimmer d) faint
Fill up with the correct word, They absent yesterday
a) were b) was c)is d) are

Add suitable prefix - ‘complete’

a) un b) in c) im d)ir

Give opposite - ‘Enter’

a) go b) exit c) come d) gone

The sum of the greatest 3 digit number and the smallest 4 digit number is
a) 2000 b) 1999 c) 999 d) 1000

7 multiplied by itself gives

a)7 b) 1 c) 49 d) 0
How many times 25 should be subtracted from 50 to give zero
a)5 b) 10 c)3 d) 2
Complete the pattern

3,6,12,____

a) 24 b) 48 c) 60 d) 15
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728 + 1448 has which number at thousandth place

a)2 b) 1 0) 7 d) 6 |
The sum of two numbers is 999, if one of them is 378, the other number is
a) 521 b) 721 c) 621 gjsen
% of 12 is equal to
a)6 b) 3 c) 2 d) 4
The remainder of 243 + 6 is
a) 4 b) 0 c) 2 d)3
843 +139is equal to
a) 746 +153 b) 538 +241 c) 649 +333 d) 284 + 608
The flat broad part of a leaf is called |
a) vein b) midrib c) leaf blade d) stoma !
Pet rabbits are kept in a
a) Kennel b) stable c) hutch d) coop
An Ophthalmologist is a doctor who treats problems of
a) eyes b) nose c) ears d) throat
Quinine is obtained from ______tree
a) Neem b) Cinchona c) Tulsi d) Turmeric
Whales and dolphins breathe through
a) gills b) skin c) lungs d) gill books
Which of the following is a water borne disease?
a) chicken pox b) Malaria c) typhoid d) measles

is an aquatic plant
a) cactus b) water hyacinth c) mango tree  d) funaria

Vultures and jackals are

a) carnivores b) herbivores c) omnivores d) scavengers

In which organ of plant is food prepared?

a) Leaf b) flower c) stem d) fruits
The foot of the hills are called

a) valleys b) plains ¢) Mountains d) ponds
During

» People draw kolams to decorate their house

a) Onam b) Holi ¢) Bihu d) Pongal
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42

43

45

46

47

The ocean to the east of Africa

a) Pacific ocean  b) Atlantic ocean ) Indian ocean ) Arctic ocean

A person who is trained 1o travel in a space craft

a) Acrobat b) Actor c) Astronaut d) Author

Which of the following does not have its own light?

a) stars b) planets c) sun d) stars and planets
At present India is divided into states

a) 25 b) 27 c) 28 d)29

Who hoists the national flag at Red Fort on Independence Day?

a) President b) Chief Minsiter ) Prime Minister  d) Governor

Susan is visiting a Union Territory which is also the capital of two states. Which is that?
a) Puduchery b) Chandigarh c) Anmedabad d) Hyderabad.
The food grain that grows well in the climate of Rajasthan

a) Sugarcane b) Rice c) Jowar d) Soyabean

Who directed the movie “Gandhi”?

a) Satyajith Ray  b) Mahesh Bhatt  c) Richard Attenborough d) Gulzar
Which is the cultural capital of Kerala?

a) Thiruvananthapuram b) Kozhikode c) Thrissur d) Kannur
Which festival is known as ‘festival of lights’

a) Diwali b) Holi c) Onam d) christmas

Who is the vice president of India?
a) Krishna Kanth  b) Hameed Ansari c¢) Najma Heptulla d) Prathibha Patil

Who is the author of ‘Christmas Carol?’
a) Charles Dickens b) Jane Austen ¢) Jules Verne d) J.K.Rowling

What is the name of the watch worn by Ben in Ben-107?
a) Azmuth b) Omnitrix c) Rado d) Zora

Each year World Food Day is celebrated on
a) October 16 b) October 26 c) September 13  d) September 26

MOM is a mission to

a) Pluto b) Venus c) Mars d) Mercury
TajMahalisin

a)Agra b) Bhopal c) Gujarat d) Bangalore
Complete the pattern

3,5,8,12,

a) 17 b) 19 c) 18 d) 22

You are my son, but | am not your father. Then who/am | to you?

a) Uncle b) Mother c) Grandmother  d) Grand father
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18 Find the noyy figgire

4] -~

x 0x) S

- o
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49 Dico Ludo :: Rook R ) chess d) Carrom,

a) Hockoy b) snake and ladder
50 Which doag not belong to the group?

d) Daisy
a) Tulip b) Rose ¢) Bud
inner, sandwich, teg .

1 Write these wordsg inthe alphabetical order - breakfast, lunch, d

inner, lunch, sandwich, tq
a) dinner, ea, breakfast, sandwich, lunch b) breakfast, dinne a

i ch, tea, sandwi
¢) Lunch, breakfast, dinner, sandwich, tea d) breakfast, dinner, lun Vich

2 Which g the smallagt cell in our body?

a) Nervo ¢l b) White blood cell ¢) Red blood cell d) Ovum
3 Which Cartoon charactar loves eating spinach?

a) Tom b) Jerry ¢) Popeye d) Mickey
4

Find the missing number

1\3/2 4\/2 3\/2 1

a3 p)g €5 g7

o

How Many boneg arg there In human body?

a) 208 b) 209 €) 210 d) 206
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